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1.
Temperatures	of	10	days	(in	°C)	are	given	below.	Find	the	mean	temperature.
35 33 25 32 28 27 33 27 29 27

(i) 153
5 °C (ii) 158

5 °C (iii) 30°C (iv) 149
5 °C (v) 148

5 °C

2. The	marks	obtained	by	Ajay	in	his	annual	exam	are	shown	below.	Find	the	subject	that	has	maximum	score.

(i) Sanskrit (ii) Spanish (iii) French (iv) Physics (v) Biology



3. Identify	the	class	interval	table	for	the	given	histogram.

(i)
Weight	(in	kg) 50	-	54 55	-	59 60	-	64 65	-	69 70	-	74 75	-	79 80	-	84 85	-	89
No.	of	students 22 15 18 26 7 27 20 23

(ii)
Weight	(in	kg) 50	-	54 55	-	59 60	-	64 65	-	69 70	-	74 75	-	79 80	-	84 85	-	89
No.	of	students 22 23 18 26 7 27 20 15

(iii)
Weight	(in	kg) 50	-	54 55	-	59 60	-	64 65	-	69 70	-	74 75	-	79 80	-	84 85	-	89
No.	of	students 22 15 26 18 7 27 20 23

(iv)
Weight	(in	kg) 50	-	54 55	-	59 60	-	64 65	-	69 70	-	74 75	-	79 80	-	84 85	-	89
No.	of	students 22 15 18 26 5 27 20 23

(v)
Weight	(in	kg) 50	-	54 55	-	59 60	-	64 65	-	69 70	-	74 75	-	79 80	-	84 85	-	89
No.	of	students 22 15 16 26 7 27 20 23



4. Which	of	the	following	tables	represent	the	given	histogram	with	varying	base	widths

(i)
Age	(in	years) 20	-	30 30	-	60 60	-	80 80	-	90
No.	of	students 15 14 9 7

(ii)
Age	(in	years) 20	-	30 30	-	60 60	-	80 80	-	90
No.	of	students 15 5 5 7

(iii)
Age	(in	years) 20	-	30 30	-	60 60	-	80 80	-	90
No.	of	students 15 14 14 7

(iv)
Age	(in	years) 20	-	30 30	-	60 60	-	80 80	-	90
No.	of	students 15 5 7 7

(v)
Age	(in	years) 20	-	30 30	-	60 60	-	80 80	-	90
No.	of	students 15 17 9 7

5.
Given	an	even	number	of	random	samples	with	the	middle	two	samples	as
x	+ and	x	+ and	the	median	as ,
find	the	value	of	x.

22 22 29

(i) 5 (ii) 9 (iii) 7 (iv) 6 (v) 8



6. Rainfall	of	207	days	(in	mm)	are	given	below. Identify	the	class	interval	table	for	the	given	frequency	polygon.

(i)
Rainfall	(in	mm) 9	-	17 18	-	26 27	-	35 36	-	44 45	-	53 54	-	62 63	-	71 72	-	80

No.	of	days 50 37 12 24 3 28 20 29

(ii)
Rainfall	(in	mm) 9	-	17 18	-	26 27	-	35 36	-	44 45	-	53 54	-	62 63	-	71 72	-	80

No.	of	days 50 37 12 24 7 28 20 29

(iii)
Rainfall	(in	mm) 9	-	17 18	-	26 27	-	35 36	-	44 45	-	53 54	-	62 63	-	71 72	-	80

No.	of	days 50 37 16 24 7 28 20 29

(iv)
Rainfall	(in	mm) 9	-	17 18	-	26 27	-	35 36	-	44 45	-	53 54	-	62 63	-	71 72	-	80

No.	of	days 50 29 12 24 7 28 20 37

(v)
Rainfall	(in	mm) 9	-	17 18	-	26 27	-	35 36	-	44 45	-	53 54	-	62 63	-	71 72	-	80

No.	of	days 50 37 24 12 7 28 20 29

7.
Heights	of	16	students	(in	cm)	are	given	below.	Find	the	mode	height.
174 143 136 125 126 147 158 173 174 164 125 157 130 158 132 125

(i) 123cm (ii) 126cm (iii) 125cm (iv) 124cm (v) 127cm

8. Find	the	mean	of	first	7	multiples	of	20.
(i) 79 (ii) 80 (iii) 81 (iv) 82 (v) 78

9.
The	marks	obtained	by	14	students	in	a	test	are	given	below.	Find	their	mode	marks.
49 9 44 4 40 7 27 8 48 45 5 4 26 38

(i) 4 (ii) 7 (iii) 3 (iv) 1 (v) 5



10. Which	of	the	following	are	true?

a) The	number	of	times	a	particular	observation	occurs	is	called	its	frequency.
b) The	difference	between	the	true	upper	limit	and	true	lower	limit	is	called	the	class	mark.
c) The	true	lower	limit	of	the	exclusive	form	class	interval	20	-	30	is	20.
d) The	true	lower	limit	of	the	inclusive	form	class	interval	20	-	30	is	20.
e) Each	numerical	figure	in	a	data	set	is	called	an	observation.

(i) {a,c,e} (ii) {d,c} (iii) {b,a,c} (iv) {b,a} (v) {b,d,e}

11. There	are	certain	creatures	in	a	zoo.	Find	the	type	of	creature	that	has	minimum	presense	in	the	zoo.

(i) Reptiles (ii) Domestic	animals (iii) Birds (iv) Wild	animals (v) Land	animals

12. Following	bar	graph	gives	 the	average	 temperature	of	a	place	during	a	week.	Find	 the	day	 that	has	minimum
temperature.

(i) Fri. (ii) Sat. (iii) Thurs. (iv) Sun. (v) Mon.



13. Identify	the	class	interval	table	for	the	given	frequency	polygon.

(i)
Class-Interval 13	-	23 24	-	34 35	-	45 46	-	56 57	-	67 68	-	78 79	-	89
Frequency 19 31 21 50 30 16 34

(ii)
Class-Interval 13	-	23 24	-	34 35	-	45 46	-	56 57	-	67 68	-	78 79	-	89
Frequency 19 34 17 50 30 16 31

(iii)
Class-Interval 13	-	23 24	-	34 35	-	45 46	-	56 57	-	67 68	-	78 79	-	89
Frequency 19 34 21 52 30 16 31

(iv)
Class-Interval 13	-	23 24	-	34 35	-	45 46	-	56 57	-	67 68	-	78 79	-	89
Frequency 19 34 21 50 30 16 31

(v)
Class-Interval 13	-	23 24	-	34 35	-	45 46	-	56 57	-	67 68	-	78 79	-	89
Frequency 19 21 34 50 30 16 31

14. The	class	marks	of	a	frequency	distribution	are25	,	36	,	47	,	58.
Find	the	class	size	and	class	intervals in	inclusive	form
(i) 11 21 31 32 42 43 53 54 64; - , - , - , - (ii) 11 19 30 30 41 41 52 52 63; - , - , - , - (iii) 10 20 30 30 40 40 50 50 60; - , - , - , -

(iv) 11 20 30 31 41 42 52 53 63; - , - , - , - (v) 11 19 29 30 40 41 51 52 62; - , - , - , -

15.
Daily	wages	of	16	labourers	(in	₹)	are	given	below.	Find	the	mode	wage.
452 301 414 453 437 424 446 305 421 327 330 494 437 396 394 437

(i) ₹437.00 (ii) ₹436.00 (iii) ₹439.00 (iv) ₹435.00 (v) ₹438.00

16.
The	number	of	classes	of	class	size5required	to	representthe	given	random	sample	in	exclusive	form
2 3 3 3 5 6 8 8 8 11 11 12 12 12 15 16 19 21 21 22 22 25 26 29 36 39 41 41 42 43
43 46 46 47 47 48 50

(i) 9 (ii) 12 (iii) 11 (iv) 10 (v) 8



17.

The	upper	limit	of	the	class	with	frequency	x	is
Class-Interval Frequency

30	-	38 7
38	-	46 13
46	-	54 15
54	-	62 x
62	-	70 23

(i) 63 (ii) 65 (iii) 60 (iv) 61 (v) 62

18. In	exclusive	form	representation,	the	observation falls	in	which	class?28
(i) 18-28 (ii) 28-38 (iii) 33-43 (iv) 23-28 (v) 38-48

19. If	the	mean	of x is , find	the	value	of	x.6 1 10 9 6 15

(i) 8 (ii) 4 (iii) 5 (iv) 2 (v) 6

20. Students	of	a	certain	locality	use	different	modes	of	travel	to	school	as	given	below.	Find	the	mode	of	travel	that
has	424	students.

(i) School	Bus (ii) Bicycle (iii) RTC	Bus (iv) Scooter (v) School	Van

21.
Wages	of	21	labourers	are	given	below.	Find	the	mode.
Wage	(in	rupees) 304 312 378 429 438 444 454 458 472 476 498
No.	of	labourers 2 1 2 2 2 5 1 2 1 1 2

(i) ₹444.00 (ii) ₹442.00 (iii) ₹443.00 (iv) ₹446.00 (v) ₹445.00



22. The	number	of	bars	present	in	the	bar	chart	of	the	following	table	is

(i) 8 (ii) 5 (iii) 6 (iv) 4 (v) 3

23. Heights	of	195	students	(in	cm)	are	given	below. Identify	the	class	interval	table	for	the	given	histogram.

(i)
Height	(in	cm) 126	-	134 135	-	143 144	-	152 153	-	161 162	-	170 171	-	179
No.	of	students 38 33 42 31 37 14

(ii)
Height	(in	cm) 126	-	134 135	-	143 144	-	152 153	-	161 162	-	170 171	-	179
No.	of	students 38 42 30 31 37 14

(iii)
Height	(in	cm) 126	-	134 135	-	143 144	-	152 153	-	161 162	-	170 171	-	179
No.	of	students 38 14 33 31 37 42

(iv)
Height	(in	cm) 126	-	134 135	-	143 144	-	152 153	-	161 162	-	170 171	-	179
No.	of	students 38 42 33 29 37 14

(v)
Height	(in	cm) 126	-	134 135	-	143 144	-	152 153	-	161 162	-	170 171	-	179
No.	of	students 38 42 33 31 37 14



24.
Given	class	interval	table,	find	the	sum	of	frequencies.
Class-Interval 35	-	43 44	-	52 53	-	61 62	-	70
Frequency 17 20 19 25

(i) 81 (ii) 82 (iii) 80 (iv) 83 (v) 78

25. Read	the	given	column-graph.	Find	the	month	that	has	10	cm	rainfall.

(i) July (ii) August (iii) September (iv) October (v) June



 1)	(v)  2)	(v)  3)	(i)  4)	(i)  5)	(iii)  6)	(ii)

 7)	(iii)  8)	(ii)  9)	(i)  10)	(i)  11)	(iv)  12)	(iii)

 13)	(iv)  14)	(iv)  15)	(i)  16)	(iv)  17)	(v)  18)	(ii)

 19)	(iii)  20)	(v)  21)	(i)  22)	(ii)  23)	(v)  24)	(i)

 25)	(ii)

Assignment	Key

Copyright	©	Small	Systems	Computing	Pvt.	Ltd.


